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Direction : Answer the following questions by selecting the most aPPT ppiateopian.

|

(B)

¢ ' se can be brought near water
1. ‘T @@ Fr T 3 T8 @ ST 9T | 1 A horse L ought ncar waler,
g, g 99 3 fe o 78 R put cannot be forced to drink." This
KM’ 78 FY dies® & dEn 3 statement  reveals  the  truth  of
fre o &t Toaar vae @ B 7 Thorndike's which law of lcarning ?
[1] oo & [1] Law of Readiness
[2] = @ Frm | 12| Law of Exercise
[3] w9 & fram | 13] Law ol Iiftect
(4] El'g}lﬁ‘lﬁ?m & | ; [4] Law ol Multi Responses
2. fy=foied & 4 - fhaRrawn & ‘ 2.  Which of'the following is nor a general
T A QT 78§ ? ‘ characteristic of adolescence period ?
[1] 78 SRR S o & - Itis atransitional period.
[2] @& srarefasaet B o B ‘ [2] It is period of unrcalism.
[3] & TEH B @ F T [3] It is time for search of identity.
[4] 7@ SILR 8 [4] Tt is the threshold of puberty. |
3. Freffed & § P9 SR S 3

2: Which one of the following is not a
part of Bronfenbrenner's Lcological

System theory ?

qRRafE & Risid & ST 878 ?

[1] =R foeed [1] Micro systerﬁ
[2] ﬂzﬁr ﬁ:}; 2] Macro system
[3] :W [3] Minor system
(4]

[4] Meso system

Level-3/914 P.T.O.
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4. ﬁwﬁf@ﬁﬁé?ﬁm—mm
R FHETE w9 & w7
[1] srefde fawaaeg
[2] WRugam &

[3] ameRem &
[4] gaTe Hoge

5. o Ree 3 & 3 o Rad A
R @ ReE &
Pt & & da A0 7
[1] A P AereT
[2] @ & T FA
[3] fcifsear i w&csr
[4] ST9ETd Riqw @ WRER

6 T 15 qf & FaF A I d R
ah, ot SEe AR oy 123 7
[1] 80 [2] 90
3] 100 [4] 110

1. 9 OF RRUR S A-R | Ay
fEm & orawd & ®, @ & e
FY A B AE W IR & 3 ¥’
7 58 91 B e K @
JART & 7
[1] &= [2] gferm
[3] wErgor [4] R

8. ﬁwﬁﬁaﬂéaﬁa—wm;ﬁw
FHE?
[1] STERT &)
[2] |7 &R
[3] stEEy ®R
[4] R &%

it
7

Level-3/914
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Which of the following factors
positively affects learning ?

| 1] Meaningless content

[2] Lack of maturation

|3] Lack of motivation

[4] Informational feedback

As a teacher which of the following
work would not be donc by you to
develop the creativity of the students ?
[1] Encouragement of originality

|2] Removal of tear

[3] Freedom to respond

[44 Avoidance ofdivcrgenl thinking
What  will be. the intelligence
quotient of a 15 year old boy. when
his mental age is 12 ? ‘
[19 80 [2] 90

[3] 100 [4]1 110

'When an adolescent is unable 1o
show anger to his parents, then he
shows his anger to his younger
brother.' This is an example of which
type of defence mechanism ?

[11 Repression  [2] Regression

[3] Projection  [4] Displacement

Which of the following is not a level
of teaching ?

[1] Basic Level

|2] Memory Level

|3] Understanding Level

[4] Reflective Level

9.

& Resfem gewer

1. 9 T FRed e ¥ akbet &

[5]

R A & o Renfedt & 812
o, B e @ el wEm @
TR T F R R s @
dEs it il & sw w@ ¥

[1] sg-sd e

[2] & Rregor

[3] weHr At

[4] SR S

1w W i 3 et § #-a
T TR 7

SEil T R
(1] % - - Ff
[2] SRR - §mE
[3] syt - o
[4] s ~ A

aE & ol HOgTE
fhar omr ¥, @ @ R OSeR # |
g ol 7 \
[1] fafRer St ‘
[2] wREsfid STgard ;
(3] Ffym siqaa ‘
[4] oftectse sioRa

Level-3/914
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[B)]
A teaching-learning  strategy iy
which small groups of students wiip
different level of ability usc a variety
of learning activities to improve their
understanding of a subject :
[1] Multi-sensory learning
(2] Team teaching
[3] Co-operative learning
[4] Programmed learning
Which pair is nof correct with reference

to emotions and basic instincts ?

Emotion Basic Instinct
[1] Anger — Repulsion
f2] Ownership — Collection
13] Wonder —  Curiosity
[4] Fear ~  Escape

What type of reinforcement schedule is
it, when reinforcement is provided 10
the leamer only after a certain number
of responses ?

[1] Fixed ratio

[2] Variable ratio

[34 Fixed interval

[4] Variable interval



[B]
12. Q%Wﬁgﬁgqﬂmmw
T A LA
HH AT B B

[1] e aderer
[2] aifeRT werer
[3] Ty gdeer
[4] Frrarest adterer

15. R & derew P i @
AR, ‘e @ A T
T g, S Rl S 9
3 Braraae ¥ weg wd ¥, Fw
-
[1] @&t wgfel (2] W S
[3] @ [4] E&

14. ART meEr T ¥ @ A wE
T B1 TE T FE B
[1] S SHRERem &
[2] ST& SIRERET &
[3] ST SATERET %
[4] &0 & K T

15. ¥R F FRA TR, g
S $ 68 ST § wehe

(1] sferger Surm
[2] ¥IX SUFH
[3] 9 ST S
[4] SRS IR

Level-3/914
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12.

A type of intelligence test in which
the difficulty

gradually increases and the time

level of questions
factor is secondary :

[1] Verbal Test

2] Power Test

[3] Speed Test

|4] Performance Test

According to. Piaget's Cognitive
Development Theory, "The basic unit
of the cognitive structurc that helps
in the implementation of cognitive
behaviour', is termed as :

[ Reflexes |2] Basic Instincts

[3] Schema [4] Conservation
Rohit helps others to get praise. This
is an example of :

[ Intrinsic Motivation

2] Extrinsic Motivation .

[3] Innate Motivation .

[4]. None of these

Spranger's classification of

personality is related to which
approach of personality assessment ?
|1] Trait Approach

[2] Type Approach

[3] Instinct Approach

[4] Psychoanalytic Approach

16.

Fewer & Risager, 78 e @
@ SR ¥, o M ¥ @-edgm
i Rrafa afefm & o ¥ 2

(1] @-sfem

[2] e

[3] SR-&e™

[4] =9 & FE &

s & e few  RemgEr,
fpeMrar ®

[1] e arefem @ oraer

[2] ma & AR A ovaRT

[3] T v @ orewr

[4] T AfRw A oTEr

(7]
|

18. 9@ GG I B SRR SRS © 7

(1] =rEa

[2] s

[3] ST=IRE

[4] TR

Frafefeg. § @ P-w e @
D TN @R T 78S

[1] @reatve gFmm &

[2] Sfe ¥ HF l

(3] o el W@ GWel & |
Eix

[4] smaifea feamel & g

Level-3/914
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[B)
According  to Kohlberg's theory,
what level of morality is it. when
morality includes sell-accepted
moral principles ?
(1) Pre-conventional
(2] Conventional
3 Post-conventional

[4] None of these

According to the moral development
theory of Piaget, adolescence period is :
il] Stage of moral realism

[2] Stage of morality constraint

[3] Stage of heteronomous morality

[4] Stage of autonomous morality

18. Hunger and Thirst is which type of

motive ?

[1] Extrinsic

[2] Acquired

[3] Intrinsic

[4] Social

Which of the following is nof a
5)"mp.10m of good mental health of
Students ?

I1] Living in fantasy world

[2] Balance in life

B Knowledge of our potentials and
limitations
[4] Free from undesirable worrics

P.T.O



23. FRE FEFH & o

[1] g7 R fered

[2] T AR @

(3] G &R TET

[4] S AR fere

g g @ A & A @
a9 % A A g & 'O
oRefe R o gl § - W A
@, @ fer e, @
T AR T FA .
SEicE TR A K kWG A
%7

(1] 3w e

[2] ¥R @@ feT 7R

[3] §ieX wd A

[4] EEREs

e Ry 3
S B FE O ¥ 7

(1] ot 2] ged

Bl w4 oy

Level-3/914

20.

1 Allport

Which one of the following is nor 4
direct method for measurement of
attitude ?

[1] Interview

[2] Projection

[3] Questionnaire

[4] Observation

Which of the following pairs of
communication skills is correct for
receiving the information ?

[1] Listening and Writing

[2] Speaking and Reading
|3]:Listening and Reading

[4] Speaking and Writing
"Emotional  Intelligence
defined as the capacity to reason with
cmotion in four areas - to pereeive

ch\otion, to integrate it in thought. to

understand it and to manage it."

Who this  definition  of

cmotional intelligence ?

gave

' [I‘J. Daniel Goleman

2] Mayer and Peter Salovey

|3] Peter and Michael

[4] Halverson

W}‘10 is called the father of Trait
Theory for study of personality 7

12] Woodworth

(3] McDougall 4] Eysenck

may be!

AR STEE ¥ e o
qOeT Rhe &R Ry Rear a7

[1] W g A
(2] 3%

(3] sEsts

[4] S T e

25. FrefoRed & § f-a1 Fuw Yafs

fefarel & weef & Wl 7R ?

(1] #E & & =} g gom 78
GG )

[2] Fafre Rl st aEt
T T & e &

[3] ¥t fafand R 3 R
SR @yl el ¥

4] YR RReER @

Wﬁw%mmﬂéﬁh%
freffed & § @99 FE 9@
Al B gorERd TOET ¥ g
A

[1] STETERE IFET deeft

[2] gt & "o A W6 § A
s .

(3] S gwﬁésﬁ Eoe]

(4] T T AT SR e

Level-3/914

[9]

24.

[B]
who  developed  the

/\ppcrccplion Test for personality

Thclmnic

a'sscssmenl ?
1 Murray and Morgan

(2] Bellack

(3] Eysenck

[4] Allport and Cattell

Which of the following statement is
correct  with

not reference 1o

individual differences ?

[1] No two persons can be exactly
alike.

[2] Individual

belong to different areas.

differences  may

[3] Individual differences alfects
different dimensions of
development.

[4] Individual differences arises

only due to heredity.
Which of the following task is not
related to Bager Mehdis test of

Creativity ?

[1] Unusual uses related task
[2] New - relation  between — pairs
related task
[3] Product improvement related
task
[4] Ask and guess related task
P.T.O.



[B]
21. Ram A Bz ATRET T 5
T B )
(1] fadfes #za
(2] SfFfte=s
[3] @i
[4] g
-1 Fite i g ¢

[1] AT 9T @9
[2] amfos gedt o freg s
(3] amfess nfafafadt @ s
[4] Trmfo @eedt ¥ gaf

29. AWM F omavEw e R &
T &1 STEEA & 7
[1] =fRmma
(2] amfors
(3] s
[4] HameT®

30. Pkl Rl & orgew, frefifeg 3
A BT I T @R g

[1] Rsdgenes

[2] TS

13] &t
4] TR

[10]

i

|

21.

~
©

. According o

Development  which proceeds from
‘centre to the periphery'. is known as :
[1] Cephalic Caudal

|21 Proximodistal

[3] Spiral

[4] Circular

28. Which way is the most appropriate

for social development of

adolescents ?

[ 1] Discussion on socialization

[2] Essay competition on social values
[34 Organizing group activitics

[4] Documentary on social relations
Maslow’st  Need
Hicrarchical theory. 'Esteetn Needs
are which type of need ?

|1] Personal

[2] Social

|37 Intellecaal

4] Emotional

Theory.

which of the following is not a 1ype

According 1o Triarchic

of intelligence ?
1] Analytical
|2] Creative
[3 Theoretical

4] Practical

Level-3/914

HRT- II (PART - ID E
T (R @& sideh) (LANGUAGES (HINDT

[11]

&= (mvDD
&
31. 58 e & Foees gdam & @ 34.
e
(1] 3% IO B @E HET AR
[2] 7 9T @A, S A A
[3] &0 &l @1 3B T Rems @
(4] = 0, Fa & T 35
32, A # e ¥ o s
T
(1] ™1 - et e,
e
[2] T5E - FW, FEIR, BH
[3) o - FEET, A, s
aafean
[4] 7@ - @R, TN, WY
33. fadim @1 gfte & orer oy g 31
il]m - . oAfrew
Q@ - e
B) = - T
“rgEm - e
Level-3/914

[B)

NGLISH)]

: P vt 3 gt 3 @ AT @aR o AET I

ey Farped 7 e &R @ g
?7

1] gt

(2] FATE

(3] TRraRET

[4) gt

35, geEr @ g A @ At F FER

W Bl
[1] ol
2] 7t
[3] g
[4] &=
fhe g § uh A ofes I @
w4 e ¥ 7
(1] Sveqas
[3] orgmm

2] e
4] =

ST gy # af A g § A

= T A fpE g B T T ?
1] sivf
(2] vam
3] =fmre
4] =i

P.T.O.



[12]

[B)]
e 42 ‘qﬂlmﬁhﬁﬁ . [13] [B)
38, ‘gEm-aged @ g @ b o S T e 3 . SIS (ENGLISH) .
gﬁq : o 1 e Direction : Answer the following questions by selecting the m m"s' approt— ropﬂ% —
. ~ o » n the blank® with the cor
(W dmam e 2] "?PFTT 46. Fill in the blank with the correct 50. l;’ltlloln rect
. . X 0
2] w3 R 13) T torf'n of verb : ) when Monisha reached the  bus
Neither you nor she ........... made d, the bus ...........
[3) aEer - T 14] g the mistake. "“l“ s already lefl
A 1] wasd d
1] have [2] has 5
4] w&T® - P [ ad already left
! B, T P P dwm B am (3] had (41 did e o
. 7 A P am A o WA TR dAr 7w ded o _ ' Iready le
Sy 7 - Fill in the blank with , [4] has been alrcady lef
wanT 757§\31T 37 FEAETOT AN 7 4. Fi l . e blank with correct 'Modal ;
(1] e T ——— Auxiliary' : s1. Fill in the blank with the correct
[2.] . 1 i 8 Passengers ........... not walk option that completes the idiom :
e 2| rfeares w5 across the railway line. A rolling stone .......... ;
(3] e (3] wraras @ (Probibition) [1] carries rough winds
2] kills no one
4] T 4| A T [2]
14 [4] SHRTArE e [1] should [2] can [3] gathers no sauce
40. W H gfte @ mmﬁﬁﬂ : 4. R gUS-3 e e [3] need [4] must [4] gathers no moss
T - - 9:51" 3 ;;{. RO U c A . ‘ 52. Change the narration :
Bitct r s C & frgr-fadresr 5 g 3T 48. Fill in the blank with the correct Kavin said to Mr. Cowper, "Pleasc,
(2] dfeamerm - s T option : be kind to me."
3] A [ ). reares Mr. Sudhir Soni is .......... RA. S, foh Kavin requested Mr. Cowper to-
[31 - fa
2] Officer. be kind to him.
[4] ST - TR - 2] Kavin requested Mr. Cowper (o
(3] aRETEES ' [1] an [2] a be kind to me.
4. g s gt g i 3 [3] Kavin asked Mr. Cowper o be
4] wrE (3] the 4] = ki
3 d M7 Rew d R L 4 please kind to me.
A 49. Choose the correct passive of the | Kavin asked Mr. Cowper that he
(1] W€ - 2 Hfew; w2 - i 5. T & F-H I oy E 7 given sentence : must be kind to him.
(2] GO - ; g - B © L) gRI FHRR wiES ¥ Did he kill a lion ? 53. Fill in the blank with the correct
1 g - T gl - [2] &% &t & "yt e [1] Did a lion killed by him ? f’:‘l“’“ :
3"%{1 - €t us stay here, while it .......... .
[4] W'WW»W [3] 98 99 § O IR W@ B [2] Was a lion killed by you ? (17 is raizingrc e
T [4] T @ o A W R Y [3] Was a lion killed by him ? %2] was raining
3 -
Level-3/914 [4] Had a lion been killed by you ? 1 has been raining

[4] had been raining

Level-3/914
P.T.O.




[B) [14]
[15] -
54. Choose the part of the sentence that 58. Choose the part of the sentence th;
p ' i ¢ that ST - III (PART — 1T
is grammatically incorrect is grammatically incorrect YHR STHIT (GENERAL STUDIES)
The thief took towards/his heels/on He has committed / a blunder AEAH mr qieeh A T ¥ M o QHURBNEN'IE‘Z!:;RTWE AFFEXODE,
sceing/the Police-van arrive. mistake / today morning. REASONING ABILITY AND G K. & ool )
[1] F'hc thief took towards [1] He has committed BT : P g9 2 g 37 & [T @98 afya AT g g ropriate option
[2] his heels (2] a blund Direction : Answer the following questions by selecting the m‘ﬁ‘,ffg,,fw g skl o
[3] on secing @ plunder Brar 7 [ o . ic s radi :
V ' ) stallic sphere of radius 10.5 ¢
(4] the Police-van arrive. [3] mistake . WIOD i maz pi ™ “ o i
35 @ 3 is melted and then recast into small
55. The word 'garrulous' means : [4]- today morning. = | " radi 5
. SO aw &2 B ygel F o R cones cach of radius 3.5 em and
talkative 2] abusive ic “the i
- :4; dbusldtl 59. l\::/hmh of the following sentences iy S ¥ TR, 36 SR @ o B height 3 ¢m, then the number of
abundan s ¢ . i prec .
.(, .uf”e” frplmn 1o express present = feet el ? cones thus formed is

56. Arrange the following jumbled perfecticontinuoys tense:?
options in the correct order and then [1] Mr. Mchta has been waking for [z (2] 126 (112 12 126
choose the correct option : 20! i :

g : 2 O'clock in the morning.
(i) too many (ii) spoil ! (31 132 41 138 (31 132 .
(iii) the broth (iv) cooks [2] Mr. Mehta has been S waking ;

P since 2 O'clock in the A 62. UTH A9 I EIKIRGRIE] q of=m 62. A steam enginc train runs from cast o
[ @), Gv), G, (i) y et
£21 (), Giv), Gi), Giii) [3] Mr. Mchta has been waked sinee g o o W ¥ o o d # #Bhandsvind is blowing from noct
(31 Git), (), ). i) 2 O'clock in the morning. AR w T @R, & I g | south, then the smoke from the train
[4] (iv). (ii), (i), (iii) [4] Mr. Mchta has been waking Feam & ! Youlg blow in which diroction ?

SL. Which of the following opions from 2 O'clock in the morning. (1] So-90  [2] So-To : -
express the correct mcnning of [h;: 60. Fill i he blank wi ‘i i e ’
sentence given below ? 1‘; mrlub ank with the correct \

orm of verb : - 4 S - E S
He is too cute to overlook, : RS ¥ A S s
[1] He is t00 cute and he can X I\"‘::; g:? better ‘ ............ your 63 \
e ands before you eat. B
vtk € ) . u ea 63. g saﬁq i hge A § ‘ 83. If the amount is 32 times the sum
[2] He is too cute but he cay |, [1} been washing T3 i T = after 3 ' d interest
. e p g interes
overlooked. ‘ [2] washing bk 3% T & S, @ A CO‘“POUT)\/;::]Sﬂ?l;:ﬁ;p?‘Z“ the rale
. :j\ce:lso SE S“le that he canngy |3] washed affs 3T % Ofinterest per annum s :
rerlooked.
4] wash ‘
[4] Although he is not cute, but 1 4] was ‘ 1 1629 2] 131, ; N 4
cannot be overlooked. ¢ ’ ’ \ 5 ]63% 12137
2
3 % 4 % |
Level-3/914 B e o s i
Level-3/914
P.T.O.
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[16]
[B) . -
. 3 7% T 84. The average of npj | . ine to a girl in photograph, X

64. 9 B FE@A T AT _ 2! nine  consecyfjye . |y pointing .
) - e 7 A numbers € 61. TF WD 3 BEOAH H xR P = . wShe is the daughter of my
3 s HmmA @ AN S35 on df the next 1y, FTA WX T 7 B 9 R @ & s o :
ather's only son". How is (he

o, A e B AT

(1) @& 799 =W
[2] 141 gz 2l
B3] 15 % g5 &
(4] 2 % gfz A

85. O FEE 0% 3w 7 5% T T
9 3, o T # 8 AW AT
& 9 dm, & www oaw 8% A
A TA T ;A (5o A
[1] 360
[2] 540
[3] 600
(4] 640
ﬁmhdéﬂ,mmima
mmélqﬁmﬁmjm
Hﬁfﬂa%,ﬁ‘fmﬁqaqmﬁ
T B
(1] 10 Fesf oty sy
(2] 12 Foh o iy
3] 13 Ft o iy
[4] 15 5t o gz

Level-3/914

numbers are also included. rhé new
average is :

[1] remain the same

[2] increase by |

[3] increase by 1.5

[4] increase by 2

A shopkeeper sclls an article at 5%
gain. Had he sold it for Rs. |8 morc,
he would have gained 18%. The cost
price (in Rs.) of the article is/s

[1] 360

[2] 540

[3] 600

[4] 640

A boat covers a certain distance
downstream in 3
comes back in 4.5 hours. I the speed

hours. while it

of the stream be 3 kmph. then the

speed of the boat in still water is :
[1] 10 kmph
[2] 12 kmph
[3] 13 kmph

[4] 15 kmph

68. Hdl = # 5. 9.

3 @an @ # asd ¥, A ae
X F g yHR g9 ¥ 7

[1] Rer

[2] =8

[3] @&F

[4] =T

13 & foifora
FTH 97 FHA 2. 6 41 10 A9 g
2 O mEd e den ®

[1] 602 2] 592

(3] 572 14] 582

69. o= Hmm AV & AT UE ¥

3,13, 22, 32, 59, 69, 120, 130, ?
[1] 201 2] 211

317227 (4] 232

70. =rad # FHd d 20% 1 FA & A

w UF WEE 800 B9 F 12,5 fEm
A S ghE a8, @ aEd #
g e ot R fedt 7

[1] 1259 2] 1439
B3] 158@  [4] 1657
Levgl-3/914

68.

69.

10.

orand!
atedto X 2

oirl rel
(11 JFather

2] Brother

|3 Sister

4] Mother
A number when divided by 5.9, 13
remainder 2, 6 and 10

leaves
respectively. ‘I'he least such number is :

[1] 602 [2] 592

(3] 572 (4] 582
The next term of the following
number serics is : )

3,13, 22, 32. 59, 69, 120, 130. 7

[1] 201 [2] 211

[3] 227 [4] 232

A reduction of 20% in the price of rice
enables a customer to purchase 12.5 kg
more for Rs, 800. The original price of
rice per kg s :
[1] Rs. 12 [2] Rs. 14
3] Rs. 15 (4] Rs. 16
P.T.O.



[B)

0. R % e A

e @ 12 o A

T ¥ R gt dre 368 A T
R

[1] 2726 (2] 2736
[3] 2796 [4] 2826
12. F 3 o w @ A

Z1A, X2D, V6G, T21J,R83M. PHSP, ?
[1] N2676T  [2] T2670N

[3] N2676S  [4] M2670S

13. W 3w Xy W H &
TR T Y RY HwEE
X3 INw @AY TG

fra Ram & % ?
[1] s (2] 3R
Bl1wE (4] TR

& FREd F€ W ¥ "PARTICLE
@ "USBQFMDI" T "GENERATE"

3 "FOFHFUBS" frar s ¥, i

A FE AT F, "DOCUMENT" g
ferar <R

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF

Level-3/914

[18]

11. In a division sum. the divisor g 12

times the quotient and § times (he

- remainder. If the remainder is 36

then the dividend is :
[1] 2726
[3] 2796

(2] 2736
[4] 2826

22. Find the next term of the following -

series :
Z1A,X2D, V6G, T21J, R88M, P44sp.9

[1] N2676T  .[2] T2670N

[3] N2676S [4] M2670S

13. X and Y are facing each other at

sunrise. The shadow of Y is falling
towards right of X, then Y is facing
in which direction ?

[1] North' [2] South
[3] East [4] West
In a certain code language -

"PARTICLE" ' is  written as
"USBQFMDIJ" and "GENERATL"
is written as "FOFHFUBS", then in
same code language "DOCUMENT"
will be written as :

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOEN
[4] VDPEUOSF

15.

6. R

T FW B sEE 9000 3, AR geut
B ST afs aT 5% R AR
B gs W 8% & @ um af #
SRS 9600 &, & Yot @ Hen
R

[11 3000 [2] 4000
(3] 5000 [4] 5600
(24 y?)am m ¥ :

R 2] 12
B113 [4] 16

D,CTE & @13, A E J afts
T Y C,AY TN, D, BA
it = A8 B, @ T ¥ AN

TR T 2
[1] A »B

B1C [4] D

8. 1865 @t % @, 660 AN AT TR

TR aR 1305 R A w8, W

120 =fe a1 § & B F T T
I wEY T, Q@ R A AN

e FH & 7
[1] 220 (2] 440

[3] 120 [4] 1085

Level-3/914

[19]

\

15.

[B)
_me/populalion of a town is 9000, |
the males i»ncrcasc by 5% and
females by 8%, the population woulq
be 9600 in a year. The number of

males is
[1] 3000 [2] 4000
(3] 5000 [4] 5600
16. If x:ﬁil and y:%’ then the
value of (x> =y ) is :
[1] 14 2] 12
[3] 13 [4] 16

D is taller than C and E. A is not as
tall as E. C is taller than A. D is not as
tall as B. Who is the tallest among

them ?

[1] A [2] B

Bl c (41D

Out of 1865 people, 660 can speak
English and 1305 can speak Hindi,
but 120 persons cannot speak cither
lﬂnguuge. then how many pcrsons
can speak both languages ?

[1] 220 [2] 440
31 120 (4] 1085

P.T.O.
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79, eﬁaaﬁrP.QmRm@hS@

[21]
[B)]

7 . - ¢ 1Q
9. A tank.is filled in 5 hours b
= Y three
which places of Haryana have been

Fwa kW R QAT WA
WQ.P%S{;‘ﬁﬂﬁaaﬁaaﬁ

pipes P, Q and R. The pipe R
is

twice as fas
fast as Q and Q is twi
€C ay

2. WA F B wE B g @ 82

THER Afe & qeq T E@d B wg

3 s R o 2 7

Ramsar sitc  under

notified  as
Ramsar convention of UNESCO ?

A T P
T ¥ @ v A R :
fast a:
7 T 7 s P. How much time will p; FERER T fRfemar
alone tak per " JOIe HFAFITT
. ake to fill the tank 2 e '
o ) [1] Sultanpur National Park &
e e . N Bhindawas Wildlife Sanctuary
e S FHAaT n\iﬁa I TqEry 2] Kalesar  National  Park = &
[4] 355 [3] 30 hrs [3] X a=eig ey X 97 e il Sl &
K - e ' . 31 Na.har Wildliftc Sanctuary & Bir
. — L " %aﬁ; T FoNg IR - Shikargarh Wildlife Sanctuary
;T W | 8 Inarowofgirs, A ' b i (
: s " g o e [4] Abushahar Wildlife Sanctuary &
w3 o . and B is 14th fi o vm. e
T J they i from the right. If - PR » X w B i o a [t
et et on i e KIS gag  F 83. Consider the followi
| W B Y W aeha becomes 24th sitions, A . S [;m Prgaf : - -
. 8 | : : o gl 0 R regarding the Governor of Haryana :
m i | . | |
- | . iy (i) He is the Chancellor of Central
= ’ D . on 3 Bl B ( University of Haryana.
| | i o "
[2] 33 [1] 31 (iii):qgﬁgqu i ’ szrca'n hOId‘ .
» s s . A , i Axt in the State.
[4 = amﬁg £ iii) He is the President of Indian Red
> p ‘3 e Cross Society
| ( . Society., Haryana State
1. &famer - ‘ -
) 4 ) Branch.
Fﬁ?g.ﬁ@%‘waﬁzmwﬁ 81 < Wjﬁ%ﬁ;ﬁ - "t
. 81. The Lok Sabh | . K
a & 1 P d ‘ A v '
[1] 78R 4 seats in Hary S ST ¥ § lsgrenonar} .
o ——— “ _under the Constituti
[2] 108% 4 [ | ” o | on;
o | Which of the abo
' | W above statement(s)
3 - is/are ¢ ‘ »
[3] 108K 5 [2] 10 and 4 o [lm o
4 - (. B0 | 1 (D), (i1), (iii) ¢ i
[4] 128k 5 [3] 10and 5 [2] (i), (iii) @R (iv) 1 2] Gi (“) A
Level-3/914 [4] 1 [3] @& (iii) “ e
2 | a
and 5 [4] (ii) 8 (iii) = ‘ I
o | [4] Both (i) and (iii)
P.T.
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84, m*mm#'ﬁ,mm
v 3w o AT

84. Which of the city of Haryana is

known as the 'City of War Heroey' 2

[1] Gurugram

[1] T8I
(2] [2] Sonipat
3] T “ [3] Panipat
(4] R [4] Bhiwani
8s. Frefafeg 3 3 &7 @a@° 3 85. Who among the following is moy
TS 3 2w A dmd? appointed by the  Governor of
P Haryana ?
| .
(1] &farn 3 5@:;, l [1] Chief Minister of Haryana
2] 918 ©§ &g 3= T8 & [2] A Judge of Punjab and Harvana
[ )
=randist | High Court
3] @ &% oM & [3] A member of Haryana Public
LSt Service Commission
[4] &arn ameftsr 597 @ w2 \ [4] A member of Haryana [luman
; Rights Commission
86. [F=iiten Ta1 w7 femw £ 86. Consider the following statements :
() eErn % Femm odmo# | (i) The institution of Lokayuka was
= 3 20023 5 % 8 l cstablished in Haryana in the
year 2002,
(ii) TS 98 TF Fw N 3 (ii) Justice Pritam Pal was the first
VR S & Lokayukta in the State of
Haryana.

E==E0L &)

[2] =7 (i) 78 &

[3]1 () & (i) T =5 %,

[4] () (i) T m t
Level-3/914

[1] Only (i) is correct.
[2] Only (ii) is correct.
[3] Both (i) and (ii) are correct.

[4] Both (i) and (ii) are incorrect.

81.

[23)

\
a3 Pt @t 38

|

B T SRE wE e o T
L

() = F59 = 5%

(i) W1 R T

(iii) SR AT S

& FE T T A

[ () &R i)

[2) (i) 3R (i)

13] () 3 (i)

[4] (i), i) AT (i)

garn & o & % emarem

qrst =1 e w0 3 e P &
3 B8 deq P 2 7

[ &EA
[2] &=r
[3] TEURAEAEEE

[4] e =@M 3=

Level-3/914

81.

[8)

Which of the following monumenyg
of Haryahu have the status of Sy
pratCClEd monuments ?
o) gheikh Tayyab's Tomb
(iD Shobha Sagar Pond
(iii) Bhimadevi Temple Complex
Choose the correct code :

(1] (i) and (iD)

[2] (i) and (iiD)

3] (i) and (iii)

[4] (i), (i) and (iii)

Which of the following institute is
respo;\sible for the development of
infrastructure facilities in industrial

areas of Haryana ?
[1] HARTRON
[2] HUDA
[BRHSIDC

[4] District Industries Centre

P.T.O



[24]

[B] 3 |
89. ‘WWWW"%qﬁ ‘
Frafefea wat & Rl
(i)%ﬁmwﬁmﬁ@;:g;
w3 R 70 ¢
m%wmm@
favaerg mmmm
TR % @ B '
(ii) ¥ g B @ 9 9B A
WWWWE‘%
T @ ¥ el w (D) B
S, g w ke g §
Sirer s ,
(iii) WA oo SoRy § W 3
F I = FmE AeEret
T @ g ¥ R ok
et & = dwd 3 R
ST HE P A T A
7E  FE T P
[1] %= (ii) & B
121 G) R (i) wEE
[3] (i) ¥R (iii) & ¥
(4] (), (i) 9 (i) & %
90. Em%ﬁqﬁi‘f@ﬁumﬁa
T T Aebare a7 7
[1] gor g8 =
[2] agE @ et
[3] aF% 9 de
[4] g THFE
Level-3/914

89.

Read the following statements

Parive.
Parivar Pchehan Patra Yojna' :

abouy
(i) This scheme identifics lamily ag
a unit and is creating a reliable
socio-economic database of all

“the families in Haryana.

(i) An eight digit unique family 1D is

- being issued for every family and

the ID will be linked to birth.
death and marriage records. -

(iii) The data available in family 1D
database will be utilized to
determine automatic verification
for various welfare schemes and
families will not be required to
apply themselves for benefits.

Choose the correct code :

[1] Only (ii) is correct.

[2] (i) and (ii) are correct. .

[3] (ii) and (iii) are correct.

[4] (i), (ii) and (iii) are correct.

_. Who among the following Governors

of Haryana was a civil servant ?
[1] Muzaffar Hussain Burney
[2] Jaisukh Lal Hathi

[3] Dhanik Lal Mandal

[4] Babu Parmanand

[25] L8]

9FT - IV (PART - IV)
A4S (PSYCHOLOGY)
R - [ ot % guv 37 3 f @0 e fweg g

i option.
Direction : Answer the following questions by selecting the most 312}’,""11{‘3_‘9, puon-

In which of the following therapy

91. P & @ g Rfven & g eed 91.
& I fpar e ® 2

free association method is used ?

[1] =9er fafsmEr

[1] Behaviour therapy
[2] HsTe Rafehe [2] Cognitive therapy
[3] N S Ffewean [3] Client centered therapy
[4] ‘Fﬁﬁﬂﬁwb [4] Psychoanalysis

‘92 '&ﬁ'é\_'ﬁlﬁ' 3 A ﬁ"ﬂﬂ % R & & 92. Which of the following levi

2R A TE AT 37

n h

Kohlberg is notr considered

theory of Moral Development ?

[1] Pre conventional level

[1] @ WA &R

[2] T &

|2] Conventional level

[3] Post conventional level

[3] TR TR &I

[4] Prepost conventional level

4] r@qsﬂﬁ_{\ QU &R

P.’
Level-3/914



[B]

0. mﬂamzmﬁﬂm
ot % A 6 AT

1] s wgf
12] sfaferrers af
3] s g
4] sferefes wfi

94, T ok omgfed @ w A T

- il a1 v i ¢ 7
[ 21"
[3] ANOVA  [4] ¥

95. lIF 3o To Tho (IAS) & ey
3 e ¥ AR T 3 & @
ol 3 A R @ ¥ A A e
59 &8 & ar o

[1] SYrM-IUFM &g
|2] 9RER-9RER &2
|3] SUPH-9RER &g

|4] & 3rm wRer o

Level-3/914

[26]

93. Which of the following memor is

also known as Autobiographicy]

memory ?

[1] Semantic memory
|24 Iconic memory
[3] Episodic memory

[4] Echoic memony

94. Which statistics will be used when

the data is in form of frequencies 2
[ [2] '47

[3] ANOVA 4] 7

95, Ashok wants to appear in [AS
examination but is hesitating because
of the fear of failure. Which of the

following conflict he is facing
|ﬂ Approach-Approach conflict
2] Avoidance-Avoidance conflict
[3] Approach-Avoidance conflict

[4] Double Approach-Avoidance

conflict

[217]
96. W Pt & ¥ R T
e T ?
(1] e
(2] sty
(3] = e
[4] s

91. TF TE H A (Mean) A AEAH
(Median) &3S 170-80 9 172 ¥

TE F T AW ?
(1] 1734
(2] 1752
(3] 168.4

(4] 174.4

9. I, F A K mar b fr & @
form iteer & 9 € 7
(1] NEO @ g

[2) Fo dlo ado

[3] 16 o THo
(4] o THo Tlo o

Level-3/914

[B]

pmpathy is one of the important
96. I A . o
mponent of which of the following ?

ol

[1] Creativity
2] Attitude
131 Emotional Intelligence
14] Aptitude

The Mean & Median ol a group is

97.
170-80 and 172 respectively. What

will be the value of Mode ?
|1] 173.4

2] 175.2
3] 168.4

[4] 174.4

98. L. I and K validity scales arc part

of which of the following test ?
[1] NEO Personality Inventory
[2] C.P. 1L

[3] 16 P.F.

[4] M. M. P. L.

P.T.



[B]

9. mﬁaw@mﬁﬁ“‘“:‘g
%wmwaﬁﬁﬁwmﬁ
fopar 7
[1] ge=f
[2] ceagw
[3] Few
[4] T®

100. 79 § 3 R wham 7 o Ho
(IQ) # IWEN veeht o ok T ?

(1] R~ g e
[2] RTHE-RE s A - 1916

[3] s=go To Mo THo (WAIS)
[4] RTHE-RA e A - 1937

10l TORSHIGE  REwal Ay 3 R
Wﬁ%%@viﬂﬁmmﬁﬁqm

TR

11 P-R C-

M= 2] [T,’:
R-C

3] — 4) E=R

Bl 3= 14] T

Level-3/914

[28]

99. Who constructed personality

inventory on the basis of factor

analysis approach ?
[1] Woodworth
[2] Edwards

. [3] Cattell
(4] Gongh

100. In which of the following test 1Q
was used for the first time ?

|1] . Binet-Simon Intelligence Scalc

[2] Stanford-Binet Intelligence
Scale — 1916

[3] WAIS

|4] Stanford-Binet Intelligence

Scale — 1937

101. To measure perceptual - constancy
Brunswik gave a formula. Which of

the following is correct formula ?

. P-R ~1 C=R
1] — 2] ——
( C-R 2l P-R
R-C C-R

3
B3] P-R 41 R-P

[29]

j02. UEE A o gt 3 R 3
fw = & @ B wew @ swEm
fepar ?

[ ccc
[2] CVC
[3] VvC

[4] ccv

103, Bt & & e el Wi @ R 7

[1] T&d SEorT

[2) TR
[3) ARG T ST
[4] STmeshy et

104, P & DA TEREHCTE §OT
1 frt 7@ ¥ 7

S 71) e TR # R
[2) e
[3]@:{8]?1?\'{5\91%@[‘{

[4] wwea @

Level-3/914

|
|
|
|
|

[B)

0z, Which of the following format was
102.

forming
used by N

Ebbinghaus  in

.9
nonsense syllables ?

(1] ccc
2] cVC
3] vvC
4] CCV
103. Which of the following is not a
Binocular cue ?
[1] Texture gradient
[2] Accomodation
[3] Convergence & Divergence

[4] Retinal disparity

104. Which of the following is . not

principle of perceptual organization ?
[1] Principle of relative brightness
[2] Principle of similarity

|3] Principle of good continuation

[4] Principle of symmetry

P.T.O
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105, py Frd AR

[1] AeA
(2] 714
13] =gaH
e ERE A

106 Frer 7 A oot fofm @ A
fafy dr) & greefe Fd & @
9T o & 7

[1] wwa oradia
[2] b @
(3] tefm
(4] o sfimper

107, Ry & W R 3 R
APt QP ol oy 7
[1] SRR T Sty
Iﬂﬁlﬂﬂlﬁwémmw
(3] 7 T o
[4] g shwems sy

Level-3/914

[30]

Psy is cqual to which of e

following ? y

[1] Median
|2] Mean
[3] Mode

[4] None of the above

Which of the following method of
behaviour therapy is application of

Wolpe's  principle  of reciprocal

inhibition ?

[1] Systematic desensitization
12] Token economy

|3] Modcling

[4] Asscrtive training

Which of the following is last stage
of Piaget's cognitive  development

theory ?

| 1] Sensory motor stage

|2] Formal operational stage
[3] Concrete operational stage

[4] Pre operational stage

[31] )
g phlisbded 108. Which part of the brain maintains
FEE F Y w7 Homeostasis in the human body ?
) Wi e (1 Reticular formation
) (2] Hypothalamus
o |3] Mid brain

|4] Mecdulla

[4] Fgem

109. ligo work on which principle ?

109, ¥ d Preid w Fd wa ¥ 7

|1] Principle of morality

(1] 3w & Ry @
|2] Principle of reality

(2] arfasa & fEer

[3] Principle of pleasure

[3) @ % fard @

|4] Principle of reality and morality

(4] arfar of Mo & R
77

110. On the basis of body structure who

110, A AN &SmO A \

EticzaficT e “ classified the Personality ?

|
(1] dees A g \ [1] Sheldon & Jung
(2] =T A e 1“ (2] Sheldon & Spranger
[3] e AR BT ‘\‘ |3} Sheldon & Kretschmer
[4] BT A e | [4] Kretschmer & Holland

Level-3/914
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3%
L e @ e e T
(norm)iﬂwmg?

[1) wfegrerie =7
2] ®AE

3] S’ (7) A
[4] &g W

aEaE ¥ g afrE & e A
wE B R o & g
’mem?

—
—

(1] oI weaw
[2) sifrem
3] TR I

[4] g S TEGH & W Y e

b
—

HEHY O H R B 3

[1] -1 &+
(2] 0&+1
(31 0& -1
[4] 0.5/ +1

Level-3/914

(32]

o
—

bt
—

Which of the following is a type of

developmental norm ?
|1] Percentile norms
[2] Stanine

(3] 7 score

‘4] Age norms

Allport in his personality theory used

which parallel term for Freud's cgo ?

| 1], Self Identity
|2] Proprium
3] Bodily self

[4] Sclf as a rational coping

What is the range of correlation

coeflicient ?
4 -1 t0 +1
[2] 0 0+l
13] 0 to -1

[4] 0.5 to +1

pa B TE RS T B R

& qET § 7

[1] Ty, o R P ofeor

(2] af, Fafee R Fas o

[3] anfess, AR X R qderer

[4] Ty, amfe o fromes wderr

oG fafar #e 9X SAEET HT

el 7 g e # A R e @

=T & ?

(1] 3@ =T

[2] ‘o® s F WA A

(3] ¥ e =T

[4] ¢ FER W W W

Level-3/914

T A O STgEeER oY &

[33]

14.

—
—

[B]

'Kohs Block Design Test' is which
type of test ?
(1] Speed. Individual and

performance Test

[2] Power. Individual and
performance Test

[3] Verbal, Group and Speed Test

[4] Speed, Group and Performance

Test

In an experiment a rescarcher wants
to study the effect of age on reaction
time. Age will be which type of

variable ?

[1] Dependent variable

(2] 'vl‘ypc 'S" Independent variable
[3] Relevant xtrancous variable

[4] Type'E' Independent variable

P.T.O.



(B)

ne. Frm # 8 oA 2 T (0

[1] = "ot
(2) stk A
[3] s A
(4] AT gt

uz e A e v S

AR i e A
A
[2)
(3] %>
[4]
18. % RErerdE swier § B g o

srﬁﬁsfamﬁiﬁa-mhmm
erf ?

(1] agee s
(2] @R argfew s
(3] TR S
4] SFeEgR s

Level-3/914

In which of the following scale zero

(0) is real ?

[1] Nominal scale
[2] Ratio scale
[3) Ordinal scale

[4] Interval scale

Which of the following can be

V-V

calculated by the formula
SD

[

(4 v

In IHeterogeneous population which
of the following will be appropriate

method for sample selection ?

| K] Random sampling

|2] Stratified Random sampling
[3] Incidental sampling

[4] Purposive sampling

)

:

!
ﬁrﬁaﬂaﬁmmmwi

e & ?

(1] Rfvw S
[2] R goe

3] R degm
(4] fe=Fre

aTET F AW oEEe AW B g |
P T s orgEe 3 fRE MER
F TATET ¥ 7

[1] fasg

(2] fav

(3] & g

(4] ST AT

o w B A A B A B R

A T E 7
[1] erfreeT
[2] @

(3] e

[4] g2

Level-3/914

119. Who cstablis

b

—

[B]

hed the first experimental

CPave D)
laboratory ol Psychology ?

[1] william James

2} Wilhelm Wundt

[3] William McDougall
|4] Titchner

Experiment done by Watson. on a
child 'Albert' is an example ol which

phenomenon of conditioning ?
[1] Extinction

[2] Discrimination

|.3| Spontancous recovery

[4] Stimulus generalization

Hans Sclye is known for which of

the following ?
[1] Motivation
[2] Stress

[3] Adjustment

[4] Conflict



[36]

[B) [37] [B]
122 N EECERIER 122. In context of calculating reliability 125, IRFHT & FU P 7 7 vs. Statoment of hypothesis should nor
. @ ¢ iferfae %  fpe 125. St ' i ) !
% @ T @ T 3 e A coefficient of a Psychological test . T S HTE B Ao 7 be of which one of the following
B T ? ‘ which one of the following is odd manner ?
one ? : [1] AFHTS A0 Frg (1] Empirically testable
(1] = = [1]7 Rulon formula [2] TaTE w9 § W 2] Conceptually clear
- - . [2] Kuder Richardson formula [3] FoTcHe FEe (3] Comparable statement
[3] A1 H TF iﬁ [3] Standard error of measurement ' [4] fafare wa Hfera [4] Specific and Precise
4 fream ‘[4] Factor analysis ‘
[4] FTH 126. Rewirrr afass & feg o & sy | 126. Dyslexia is caused by damage of
- . : F PR B B ? | which part of the brain ?
123. ©9F fERer @ fio @ g e 123. For a normal distribution, the value i
F J -7 AW @0 ERE A SRR . of probable error is expressed as one (1] 3T sk ' | . (1] Left Temporal Lobe
. N |
27 of the following : ’ [2] =t Femmafer ‘ [2] Right Parietal Lobe
(1] PE=.67450c [1] PE=.6745¢c [3] @t geeufer [3] Left Occipital Lobe
[2] PE=.6125c . [2] PE=.61250 - [4] @&t awmifer ‘ [4] Right Frontal Lobe
[3] PE=.6892 [3] PE=.6892 ¢
i B Ladie 122. P & Q@ P98 wlwor & # | 122, Which  of  the following tests
=1. o 4] PE = 1.4826
(4] 25 ¢ AT H AT HW & ? measures needs of the person ?
124. AT @R = T w@g fafar < 124. Rorschach Ink Blot Test comes in | [ éomoﬁomo—@oq‘%ﬁowﬁo [1] EPPS — MMPI
fom 3oft & o & 7 which  category of projective
. technique ? i ' [2] @0 To &o — Fo dlo Fo THo _[2] TAT - EPPS
(1] 9t gl [1] Completion Test e
o 3] %o o §o THo — At W [3] EPPS — Rorschach Ink Blot Test
[2] &= Tl [2] Construction Test T IO
3] eed wd [3] Associative Test '
[4] S T [4] Expressive Test [4] Fo To Ao — Wo Mo oo (4] TAT - CP1

Level-3/914 Level-3/914 P.T.



[B]
1za, e 7 3 A g 8T 0
e R 7 .
[1] o o sz AT T
(2] o THo swa I AT
[3] To o i ol AFTH
[4] TR A o M@

120, TR ABERIME:

(A)mMﬁwﬁwﬁ
9Rads B

(B) 1=rE a1 g & . IROmHEEY
TR F W A s
aRads & Hra F@ oY

Fre 3 & e o g 3 7
[1] 3 w9 AT B 78 Y

[2] A &8 & S B mm g,
(3] B & ¥ o A o 3,

(4] aﬁmx\wsmél

Level-3/914

[38]

128.

b
N

Which of the. following is related to

mecasurement of creativity ?
(1 C. M. Bhatia and Passi
[2] S. S. Jalota and Guilford
[3] M. C Joshi and Mednick

[4] Bager Mehdi and Torrance

Two statements are given below :

(A) Learning is change in behaviour
due to any reason.

(B) Learning can be defined as any
relatively permanent change “in
behaviour that occurs as a result
of practice or experience.

Which of the following is correct

option ?

[1] Both statements A and B are
correct.

[2] Ais correct and B is wrong.

[3] B is correct and A is wrong.

[4] Both: statements A and B arc

wrong.

130.

—
w2
v

E

[39]

= & & B alem § afeg =me
ST H I B o7

[1] o THo dio ao
[2] @o dro amo
‘[3] 2o dlo §lo THo

|

|
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[B]

In which of the following test forced

e
choice formal 1S used 7

[1] MMPI
[2] CPI

[3] EPPS

[4] MPI

Kuder Richardson Formula-21 is

used to determine which of the

following ?

[1] Validity

[2] Norm

[3] Reliability
[4] Ttem Analysis

Which of the following instrument

can be used in measuring span of

artention ?
t1] Memory Drum

[2] Chronoscope

13] Tachistoscope

[4] Mirror Drawing Apparatus

P.T.

O.
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135.

Which of the following is not a

mecthod to measure  long  term

memory ?

|14 Distractor method
2] Recognition method
|3] Saving method

14] Reconstruction method

In context of memony which of the

following 1s correct scquence !

11} Retneva Stor Uncoding
7] Storage Retricval 4 Fagodt
[ 3 Fucoding Ragges Sis

(4] Encodiga = St ¢

W hich par:

ol \adronireccives nenc

impulse
[1] \xon
2] Dendrites

[3] Cell Body

|4] Button
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136.

-

[B]

Which school ol psychology gave

the sy slematic answer to the question

“What do men do
why do they do i

o U ow do they
do it " and
[ Stractural Psy chology
|2] Functional Psychology
131 Behaviorism

[4] Gestalt Psychology

Broca arca ol the brain controls

which of the following function ?

1] Speech
12] Memory
|3] Pereeption ol colours

14] Imagination

In which of the following defense
mechanism  a

by

approved by the society 7

person reduces his

stress Woing  task  which s

|1} Rationalization
12F Sublimation
13] Reaction formation

14] Regression

. T.
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139.

—
=l

‘Which of the following is other

name of Dementia Preacox ?
[1] Paranoia

[2] Schizophrenia

- [3] Manic-Depressive

[4] Phobia

By choosing the  appropriate
alternate complete the definition of
personality given by Allport :

”P‘ersonalily is  the’ dynamic
organization within the individual of
those ........... systems that determine

his unique adjustment to - the

environment.”
[1] Psychological

[2] Psychosocial

"[3] Social

[4] Psychophysical
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141.

[B]

Which onc of the following is odd

one in the personality measurement

[1] cpl

[2] MPI

[3] NEO-PI

(4] TAT

Which of the following test measures

Quotient and

both Intellengence

Performance Quotient ?

[1] Bhatia Battery Test

[2] Binet Simon Scale

(3] Raven Progressive Matrices

(4] Jalota's Intelligence Test
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143.

b~
o

Who propounded 'Triarchic theory'
of Intelligence ?

| 1] Spearman
|2] Cattell

[3] Guilford
[4] Sternberg

In serial learning which of the
following association will be only a

correct fesponse ?

|1] Backward assoéiation

[2]" Remote backward associatioh
[3] Remote forward ass_oéiali(m

[4] Forward association

What does Raven progressive

matrices measurcs ?
[1] Personality

[2] Intelligence

|3] Attitude

[4] Aptitude
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146.

(8]

Who gave the concept of "T" score

norm ?

(1] Guilford
[2] Fischer
[34 McCall

[4] McNemar

Adrenal gland is situated in which

part of the body ?
[}] Brain

[2] Intestine

[3] Kidney

[4] Near Throat

Which of the following endocrine

eland is known as 'Master Gland' ?
[1}] Adrenal Gland
[2] Thyroid Gland
[3] Pituitary Gland

[4] Pancreas

P.T.O
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[f a subject is to be used ip Mor,
than one situation in an CXPerimey,

then which of the following contry)|

technique will be applied ?
[1] Constancy of conditions
[2] Balancing

[3] Elimination

[4] Counterbalancing
Persona means :

[1] Face

[2] Person

[3] Mask

[#] Trait
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